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1. Sketch each angle in standard position. State which quadrant the angle terminates
in and the measure of the reference angle.

a) 35° b) 165° s ¢) 216°
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2. Determine the exact value of the following ratios without using technology.
1Rec == ! o= in315° = _—-L
a) cos b) tan210°=_rz ¢ sin P o

¥

3. A point P(—4, 5) lies on the terminal arm of an angle 8 in standard position.
Determine the exact trigonometric ratios for sin 0, cos 6, and tan 6.
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[image: image2.jpg]4. Suppose 6 is an angle in standard position with terminal arm in quadrant Il and

sin § = +=. Determine the exact values of the other two P i ary trigonometric ratios.
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5. Solve for 8. 0° = 6 < 360°.

a) cos 0 = 0.5877 e(_ S_Ll-o b) sin@ = —\T‘ GK: 60

6. Find the indicated side or angle.
) LB=_/88° B eide b= L 2957
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7. Determine how many AABCs satisfy the following conditions.

a) ZA=69°,a=10.1cm,and b= 11.4cm
]
h= 1.4 Sin 67
= ’0.6 tm

No So{u{im\, no '17{”‘3[6.





[image: image3.jpg]b) LA =28°a=4andb=6 (ase T

h: 6 Sin 28° b $é ;h 2 'lLk('an{es.
=29 H % ‘____“U_Z__ solutions.

<<
8. Find the indicated side or angle. * =asv
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Pre— Calculus 11 Ch 2: Trigonometry

Practice Test

N InGY

1. Determine the exact values of the sine, cosine, and tangent ratios for each angle.

I’L&f%’ 2)225°:  sine 225°

= =l , €0s225°= =L an22se- |
J= JVz

1 Be=60 B)120°:  sine 120° = jg cos 12072 =L tanl1008==7/2
EQR,.;& ©330°: sine330°= ~L icos 3307 =3 N{an330°= %L
, tan 135° = —

sine 135°= L
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iicosisse= =l
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2. Match each term with its definition from the choices below.

reference angle

D

A~ aformula that relates the lengths of the sides of a triangle to the
sine values of its angles

exact value

e -

~B~ a value that is not an approximation and may involve a radical

€ the final position of the rotating arm of an angle in standard

sine law
A_ position
cosine law D the acute angle formed by the terminal arm and the x-axis
terminal arm JE~ an angle whose vertex is at the origin and whose arms are the x-
c axis and the terminal arm

ambiguous case

-

J~ aformula that relates the lengths of the sides of a triangle to the
cosine value of one of its angles

angle in standard position

&

/6 asituation that is open to two or more interpretations





[image: image5.jpg]3. Sketch each angle in standard position. State which quadrant the angle terminates
in and the measure of the reference angle.

a) 200° b) 130° ¢) 20° d) 330°
20"
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Quadrant : ]E_.
Reference angle : 200 .5‘00 200 30

4. The point Q(-3, 6) is on the terminal arm of an angle, 0.
a) Draw this angle in standard position.

b) Determine the exact distance from the origin to point Q. 3 |—’ =]
¢) Determine the exact values for sin 0, cos 6, and tan 6. r=]36t9
d) Determine the value of 6. - ﬁg‘
by v=Ja5:3J5 Lo TAR
'
; 6 - =5 -
C) Sin 9 \/_ &S 6= 3\)—- \[_. =

3
TOJ\9= = ==2
» be= TLW\-'(?—)= 63.4° Q=180- ¢34 = |

5. A reference angle has a terminal arm that passes through the point P(2, -5). Identify
the coordinates of a corresponding point on the terminal arm of three angles in
standard position that have the same reference angle. Y J—_‘
=] 4+25

AL e T{f; ML iYreY (W‘ﬂjﬁ E@ f & [z9
Of (2, =5)"
P‘:CZ‘S)) P2=(-Z,5>

P,): (—Z,—5>





[image: image6.jpg]6. Determine the exact value of the other two primary trigonometric ratios given each
of the following. a

o
a) sinez—%,cose<0 b)cosO:%,tan6<0 (3] tan9=152—.sin9>0
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7. Solve for all values of 6, 0° <0 < 360°, given each trigonometric ratio value.

a) tan 6 = —1.1918 b) sin 8 = —0.3420 c) cos 6 = 0.3420
I, & I, I I
eg= SOO e&= 20° eg': 7D°
°
6,= 130° s B,=70°
o °
o5 g\oa ez: 3% 0,_= 290

8. Does each triangle contain sufficient information for you to determine the unknown
variable using the sine law? Explain why or why not.
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[image: image7.jpg]9. Determine the length(s) of the indicated side(s) and the measure(s) of the indicated
angle(s) in each triangle.

A b (8
a) . ) 7%)
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LC, = 57° 8 /"/'% % 4 \
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Sl g exp SnB _pint?
et £ 22 /g/ﬁﬁ—
= 26.9mm LB S‘m (0 8659) (O

JA= /80~ 60- 42°= 78°
10. In APQR, £P = 63.5°, £ZQ = 51.2°, and r = 6.3 cm. Sketch a diagram and find the

measures of the unknown sides and angle. Q 'eo 63. 5
5t 5‘/-20 —502°
St 65 3 VSIV\ 635 M& 2 o = 4g3°

p 62 gs.,\éB 5) P 5 a

<in65.3°
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i= S B65:2° T 5%

11. Explain why each set of information does not describe a triangle that can be solved.

a)a=7,b=2,c=4 b) ZA= 85°, b= 10, ZC= 98°
The Sumof w;/ 2 5'49‘ The sum of 2 ang(es ¢{M7
must B"- 3 greater H than |80
the 3 sde. 85+ 98" = (83°
HK 4—+2_<7 -
¢)a= 12,b= 20,c= 8 d) ZA= 65°, /B= 82°, /C= 35°
¥ ThL sum of 3 ongles

ll+j —T-r; is  qreater Hhan " (90

greater /! 65+ 82+ 35" = 182"




[image: image8.jpg]12. Would you use the sine law or the cosine law to find each indicated side length?
Explain your reasoning.

a) {1\;.\@) b) //X
AR, g
185'I15—32° zn--.— —_ 88,
B inll0; 30 367 Use Cosine law. :
\ZJ:Q sfne7Q (aw Y= 87+ 47— 2(4)(8) Gs &8

13. Determine the value of the indicated variable.

b)
9
cf‘: 267+ 367 2 (26)(36) (o353 26‘%2= 2344332 -2 (23.9
(33 2)
o=J84sy i 2384332 -28¢ Cos®
= 29 en s 2 (23.6)(332)

D= Cos (0S44) = 57°

14. The 12th hole at a golf course is a 375-yd straightaway par 4. When Darla tees off,
the ball travels 20° to the left of the line from the tee to the hole. The ball stops 240 yd
from the tee (point B). Determine how far the ball is from the centre of the hole.

o= 240+ 315 - 2 (240 (3T8) Gos 20°

76=J 29080 = 705
=17





